
Variables: Algebraic Expressions II (E-1)
EXPRESSIONS WITH PARENTHESES II

Name:

Time: Score: /

177)

(19 + (−17)− 54x÷ 9 + 10x + (−19)) =

178)

5x− (−2x)− 5x + 13× 1− 7 =

179)

((6x× 0× (−5)))÷ 3× (−5)− 1 =

180)

((0x + (−7)− 3x)) + (10− (−2x)− 14x) =

181)

(9x− 8x) + 3x− 4x− (−8x) + 3x =

182)

0x + (−10x)− (1÷ 1− 4)× (−9x) =

183)

((8x + 0÷ (8x)))÷ (((0x× 3x− 2))) =

184)

3× 1× ((60x÷ (−6))− 8÷ (−2)) =

Mathematics: Variables - Level 3 - Expressions - Set 1 24 © workulum.com

https://www.workulum.com

